

$$\frac{r}{\sin \alpha} + \frac{r}{\cos \alpha} = 0 \rightarrow \frac{r \cos \alpha + r \sin \alpha}{\sin \alpha \cos \alpha} = 0 \rightarrow r \cos \alpha + r \sin \alpha = 0 \rightarrow \cos \alpha = -\frac{r}{r} \sin \alpha \quad (4)$$

$$\sin^2 \alpha + \cos^2 \alpha = 1 \rightarrow \sin^2 \alpha + \frac{r}{\epsilon} \sin^2 \alpha = 1 \rightarrow \sin^2 \alpha = \frac{\epsilon}{1+r} \rightarrow \sin \alpha = \pm \frac{\sqrt{1+r}}{1+r}$$

$$\rightarrow \cos \alpha = \pm \frac{r\sqrt{1+r}}{1+r}$$

مقدار مثبت
منه
↓
 $\sin \alpha \cos \alpha < 0$

$$\tan \alpha + \cot \alpha = \frac{\sin \alpha}{\cos \alpha} + \frac{\cos \alpha}{\sin \alpha} = \frac{1}{\sin \alpha \cos \alpha} = \frac{1}{-\frac{r\sqrt{1+r}}{1+r} \times \frac{r\sqrt{1+r}}{1+r}} = \frac{-1+r}{r}$$

$$1 + \sin 2\alpha = 1 + r \sin^2 \alpha \cos^2 \alpha = (\sin^2 \alpha + \cos^2 \alpha)^2 \rightarrow \sqrt{1 + \sin 2\alpha} = \sin^2 \alpha + \cos^2 \alpha \quad (5)$$

$$\sin \alpha + \cos \alpha = \sqrt{r} \sin \left(\alpha + \frac{\pi}{4} \right) \rightarrow \sin^2 \alpha + \cos^2 \alpha = \sqrt{r} \sin 4\alpha = \sqrt{r} \cos 2\alpha$$

$$\sin 2\alpha + \sin 4\alpha = \sin(2\alpha + 2\alpha) + \sin(2\alpha - 2\alpha) = \sin 2\alpha \cos 2\alpha + \sin 2\alpha \cos 2\alpha + \sin 2\alpha \cos 2\alpha - \cos 2\alpha \sin 2\alpha$$

$$\frac{1}{r} \sin 2\alpha \cos 2\alpha = \cos 2\alpha \rightarrow \frac{\sqrt{1 + \sin 2\alpha}}{\sin 2\alpha + \sin 4\alpha} = \frac{\sqrt{r} \cos 2\alpha}{\cos 2\alpha} = \sqrt{r}$$

$$\sin^2 \alpha = \frac{1 - \cos 2\alpha}{2} \rightarrow \cos 2\alpha = 1 - 2 \sin^2 \alpha \rightarrow 1 - 2 \sin^2 \alpha = \cos 2\alpha$$

$$\cos^2 \alpha = \frac{1 + \cos 2\alpha}{2} \rightarrow \cos 2\alpha = 2 \cos^2 \alpha - 1 \rightarrow 2 \cos^2 \alpha - 1 = \cos 2\alpha$$

$$\cos 2\alpha = \frac{1 - \tan^2 \alpha}{1 + \tan^2 \alpha} \rightarrow \frac{1 - \tan^2 \alpha}{1 + \tan^2 \alpha} = \cos 2\alpha \rightarrow$$

$$(1 - \sin^2 \alpha)(1 - \cos 2\alpha) = \frac{1 - \tan^2 \alpha}{1 + \tan^2 \alpha} \times \cos 2\alpha \times \cos 2\alpha \times \cos 2\alpha = \frac{1}{\Lambda} \frac{\sin 2\alpha}{\sin 4\alpha} \rightarrow$$

$$\frac{1}{\Lambda} \times \frac{\cos 2\alpha}{\sin 2\alpha} = \frac{1}{\Lambda} \cot 2\alpha$$

$$\cos 2\alpha = 2 \cos^2 \alpha - 1 \rightarrow \cos 2\alpha - 1 = 2 \cos^2 \alpha - 2 \rightarrow 1 - 2 \cos^2 \alpha = 2 \rightarrow \cos^2 \alpha = -\frac{1}{2} \rightarrow \cos \alpha = \pm \frac{1}{\sqrt{2}}$$

$$\sin \alpha + \sqrt{2} \cos \alpha = 1 \rightarrow \sin \alpha = 1 - \sqrt{2} \cos \alpha \rightarrow \sin^2 \alpha + \cos^2 \alpha = 1$$

$$(1 - \sqrt{2} \cos \alpha)^2 + \cos^2 \alpha = 1 - 2\sqrt{2} \cos \alpha + 2 \cos^2 \alpha + \cos^2 \alpha = 1 - 2\sqrt{2} \cos \alpha + 3 \cos^2 \alpha = 1 \rightarrow$$

$$1 - 2\sqrt{2} \cos \alpha + 3 \cos^2 \alpha = 1 \rightarrow 3 \cos^2 \alpha - 2\sqrt{2} \cos \alpha = 0 \rightarrow \cos \alpha (3 \cos \alpha - 2\sqrt{2}) = 0 \rightarrow \cos \alpha = 0 \text{ or } \cos \alpha = \frac{2\sqrt{2}}{3}$$

$$\cos^2 \frac{A}{2} = \frac{1 + \cos A}{2}$$

$$\cos A = \cos(\pi - (B+C)) = -\cos(B+C) \rightarrow (10)$$

$$1 - \cos(B+C) = 2 \sin \frac{B+C}{2} \sin \frac{B-C}{2} \rightarrow 1 - (\cos B \cos C - \sin B \sin C) = 2 \sin \frac{B+C}{2} \sin \frac{B-C}{2}$$

$$1 - \cos B \cos C + \sin B \sin C = 2 \sin \frac{B+C}{2} \sin \frac{B-C}{2} \rightarrow$$

$$1 - (\cos B \cos C + \sin B \sin C) = 0 \rightarrow 1 - \cos(B-C) = 0 \rightarrow \cos(B-C) = 1 \rightarrow B-C = 0 \rightarrow B=C=45^\circ$$

$$\hat{A} = 180^\circ - (\hat{B} + \hat{C}) = 180^\circ - 90^\circ \rightarrow A = 90^\circ$$